AR ERBIF (V7 1-2)

BBt . %0 26 4A 198 (H) ZAVAMBINA M) =2 5T
Bk : HDCPA V7 v 7 A Z M AE 5N (BHE: 0N » &t 5A)
HDCP LR :
fEF=—=: 0UT IN (1/1)
FIE(LHRE : HDCPA YT v 7 A (hESWIE) =y F o7 h— (S azE) Fk . 45 fn 248 4A 198 (H)
g iz BN 0UT IN GROSS | HDCP NET | GROSS fii %
M W | A B 39 46 80 | 19.0 | 66.0 3
HEIEIS 2Rk BDIT A 4] 43 84 1 15.0 169.0 2
3 LRI 37 40 17 4.0 | 73.0 |
460 = ¥ 44 45 89 1 13.0 | 76.0 4
b ff gk BE b8 45 103 [22.0 | 81.0 5




47 FE A BIFR (A794})

A A i 249 4H19H (R) T LA MBIH S N =2 5T
B Tk HDCPA »F v Al ZhA%K LA (B 61N &M 0A)
HDCP LR :
fER=—%: OUT 1IN (r/n
FIEMRE : HDCPA YT v 7R (hEWIE) v vFrih—F(F oAb ERI : &0 248 4H 19 (H)
[EEDA Zhn& 4 out IN GROSS HDCP NET GIE {7 figi# JIE 7 ZINEH 0UT IN GROSS HDCP NET GIE 7 i %
HE B | AL & 46 41 817 22.0 | 65.0 21 41 {7 | g R 43 44 87 Tal) 80.0 21
HEQEIRE | g ol 38 35 T3 7.0 66.0 | 49 4 | mKt B— 46 51 97 17.0 80.0 44
3 r | PARE FHE 39 31 76 7.0 69.0 2 43 {7 | B BRHA 53 44 97 .0 80.0 44
4 fif [ NA wz 45 39 84 150 69.0 12 44 fif | 215 & 53 46 99 19.0 | 80.0 52
5 | HEF 1 1] 39 80 9.0 71.0 3 45 o | ik F— 43 47 90 9.0 81.0 28
6 fir | #EH8 2 — 41 43 84 130 71.0 12 46 ff | WM Hefed 43 49 92 HEn 81.0 34
T | e f 48 46 94 22.0 | 72.0 38 47 i |1 R 45 51 96 15.0 81.0 43
8 i |#AAR F— 43 41 83 10,0 73.0 8 48 17 | K555 Lhk 46 55 101 20.0 81.0 57
9 fir | BH TR 44 40 84 10 73.0 12 49 fif | Kid Wiz 46 44 90 8.0 82.0 28
10 iz | &40 F12 47 47 84 11.0 73.0 Ii2 50 i | K64 e 51 43 94 12.0 82.0 38
11 fi | /bt B2 43 43 86 13.0 73.0 20 51 i | W& FEih 49 49 98 16.0 82.0 49
12 i | K& BEEA 38 43 81 7.0 74.0 5 52 fir | B B 49 49 98 15.0 §3.0 49
13 {f [#14 fdi— 43 48 91 17. 0 74. 0 31 53 4 | Hi FER 49 46 95 1.0 84.0 41
14 fir | b fi— 47 48 95 20,0 | 74.0 41 54 4 | M R 47 50 97 12.0 | 85.0 44
15 fi | &H B 50 48 98 24.0 | 74.0 49 55 i | il (i 49 51 100 4.0 | 86.0 54
16 fir | & #H— 38 43 81 6.0 75.0 5 56 47 | @&H Hih 53 46 99 12.0 | 87.0 b2
17 i | #F £ & 41 42 83 8.0 75. 0 8 57 4 | fE f%e 46 54 100 13.0 87.0 54
18 {ir |&0 % 42 43 85 100 | 75.0 18 58 i | Bk G 50 50 100 11.0 89.0 54
19 fir | HpAT BB 43 42 85 10.0 | 75.0 18 59 47 | LA fK 44 62 106 17.0 89.0 59
20 i [ 1L & 41 47 88 13.0 | 75.0 26 60 i | Z=3E 0 56 56 112 21.0 91.0 61
21 fir | K 123 43 46 89 14.0| 75.0 27 61 47 | &ZiE % 57 49 106 14.0 92.0 59
22 4 | HEE R 42 4] 83 7.0( 76.0 ]
23 | wEH R 43 44 87 IL0] 76.0 21
24 4 FE R 41 46 87 1.0] 76.0 21
25 i | fEiE i 43 47 90 14.0] 76.0 28
26 £ | /NHE FiE 46 46 92 16.0 | 76.0 34
27 fir | El ok 42 39 81 40| 77.0 5
28 i |#FMH HEE 41 42 83 6.0 77.0 8
29 ff |EO B 4] 43 84 7.0 7.0 12
30 fir [#1HE PEWR 46 48 94 17.0 77.0 38
31 47 | A IE#E 49 48 97 20. 0 e.0 44
32 4 | M JLy a8 42 80 2.0 78. 0 3
33 4L | i SE 43 41 84 6. 0 78. 0 1%
34 {7 |fERE BB 47 45 92 14. 0 78. 0 34
36 I |HE B 48 49 97 19.0 | 78.0 44
36 4 | JH A 48 53 101 23. 0 78. 0 57
37 L | FH EE 46 41 87 8.0 79.0 2
38 fir | #eik B 45 46 91 120 [ 79.0 3l
39 47 | ks A 45 46 91 12.0 79.0 31
40 fir | B %K 45 48 93 14. 0 79. 0 37




47 A A (B774})

BEfEE . 40 268 44190 (B) TAVAMBIA Y N =257
ik HDCPA YT v 28 BMA%K: 13N (BfE: 13N - &M 0A)
HDCP LR -
ffa—=:0UT IN (1 /1
FIERLRE : HDCPA YT v 27 2 UhSWIE) -~y FrsH— K (7 aR)E) FIR 4% 248 45190 (R)
i i L4 0UT IN GROSS | HDCP NET | GR0e5 fii %
B g =5 41 38 79 110.0 |69.0 I
HEE & A 40 41 8l |[12.0 | 69.0 3
3 AL |ZER X 47 39 6l [10.0 | 71.0 3
4 1L |\ K& R 47 a1 fia 7.0 | 72.0 [
b AL | /NG R 42 42 84 [12.0 | 72.0 6
6 L | 5B sk 45 38 83 9.0 | 74.0 D
(VAR 42 43 80 [10.0 | 75.0 1
§ I |3 Hz 45 42 87 [12.0 | 75.0 8
9 7 | =hE W 45 47 87 | 11.0 | 76.0 8
10 fz | ek 52wl 43 47 90 | 12.0 | 78.0 10
11 A7 | 570 B 49 47 96 | 16.0 | 80.0 [2
12 Ar | Al [ — 47 48 95 | 14.0 |81.0 | 11
13 {7 |s2iHiE ) 49 50 99 113.0 1 86.0 | 13




